EN: This Datasheet is presented by the manufacturer.

Please visit our website for pricing and availability at www.hestore.hu.



http://www.hestore.hu/

20

25

32

40

50

63

Single
acting
Double
acting
Single
acting
Double
acting
Single
acting
Double
acting
Single
acting
Double
acting
Single
acting
Double
acting
Double
acting
Double
acting

Push side
Pull side
Push side
Pull side
Push side
Pull side
Push side
Pull side
Push side
Pull side
Push side
Pull side
Push side
Pull side
Push side
Pull side
Push side
Pull side
Push side
Pull side
Push side
Pull side
Push side
Pull side

20.1
17.3

314
26.4

49.1
41.2

80.4
69.1

125.7
105.6
196.3
176.2
311.6
2915

201
1.6
60.3
51.8
471
32.0
94.2
79.1
737
50.1
147.2
1236
120.6

2413
2074
188.4
128.1
377.0
316.7
588.8
528.5
934.7
874.4

40.2
28.9
80.4
69.1
78.5

125.6
105.5
122.8
914
196.2
164.8
200.9
155.7
321.7
276.5
314.0
233.6
502.6
422.2
785.0
704.6
1246.3
1165.9

80.4
63.4
120.6
103.6
1413
11.2
188.4
158.3
220.9
173.8
294.4
247.3
361.7
293.9
482.6
4147
565.2
4446
754.0
633.4
1775
1056.9
1869.4
1748.8

227



AIlI'TAC

MA

MAD
MAJ

228

MAC
MAR

MACD
MACJ

D Specification

16 20 25 32 40 50 63
MSA, MTA Single acting -
Acting MA, MAD, MAJ Double acting | -
type MAR - Double acting
MAC, MACD, MACJ — Double acting with cushion
Fluid Air(to be filtered by 40 u m filter element)

Operating | Double acting
pressure | Single acting

0.1~1.0MPa(15~145psi)(1.0~10.0bar)

0.2~1.0MPa(28~145psi)(2.0~10.0bar)

Proof pressure

1.5MPa(215psi)(15bar)

Temperature °C

-20~70

Speed range mm/s

Double acting: 30~800 Single acting: 50~800

Stroke tolerance 0~150 >150
Cushion type MAC. MACD. MACJ Series: Adjustable cushion Other series: Bumper
Port size (1) M5 x 0.8 | 118" [ 114"
2550 7580 100 125 150 160 175 200 250 300 350 400 450 500 500 600 16 2550 75 100
2550 7580 100 125 150 160 175 200 250 300 350 400 450 500 500 800 20 2550 75100 125 150
2550 75 80 100 125 150 160 175 200 250 300 350 400 450 500 500 800 MSA 25 2550 75 100 125 150
2550 7580 100 125 150 160 175 200 250 300 350 400 450 500 500 800 32 2550 75100 125 150
2550 75 80 100 125 150 160 175 200 250 300 350 400 450 500 500 800 40 2550 75 100 125 150
2550 7580 100 125 150 160 175 200 250 300 350 400 450 500 500 800 16 255075 100
2550 75 80 100 125 150 160 175 200 250 300 350 400 450 500 500 800 20 2550 75 100
2550 7580 100 125 150 160 175 200 250 300 300 - MTA 25 255075100
2550 7580 100 125 150 160 175 200 250 300 300 - 32 2550 75 100
2550 7580 100 125 150 160 175 200 250 300 300 - 40 255075 100
2550 75 80 100 125 150 160 175 200 250 300 350 400 450 500 500 -
2550 7580 100 125 150 160 175 200 250 300 350 400 450 500 500 -
2550 7580 100 125 150 160 175 200 250 300 350 400 450 500 500 -
2550 7580 100 125 150 160 175 200 250 300 350 400 450 500 500 -

O Ordering code

MA: Mini cylinder(Double acting)
MSA: Mini cylinder(Single acting_push)
MTA: Mini cylinder(Single acting_pull)
MAD: Mini cylinder(Double rod)
MAJ: Mini cylinder(Adjustable stroke)
MAR: Mini cylinder . .

(DoubYe acting with cushion)

MAC: Mini cYIinde.r . .
(Double acting with cushion)

MACD: Mini cylinder
(Double rod with cushion)

MACJ: Mini cylinder . )
(Adjustable stroke with cushion)

Model Frontcover

F: Front mounting type
MAR U: Up mounting type
Others No this code

Model Bore size
MA, MSA, MTA, MAD, MAJ 16 20 25 32 40
MAC, MAR, MACD, MACJ 202532405063

Refer to stroke table for details

Blank: PT
T: NPT
G:G

Model Mounting type

MA Blank: No accessories
MAC FA:FAtype

MSA  SDB: SDB type

MTA | B: LB type

MAD  Blank: No accessories

MACD
MAJ FA: FA type

MACJ LB:LBtype
MAR  No this code

Model  Back cover
MA,MAC CA: Pivottype

MSA U: Flat-end type
MTA CM: Round-end type
Others  No this code

S: With magnet

Model Adjustable stroke
10: 10mm
20:20mm
30:30mm

MAJ  40: 40mm

MACJ 50 50mm
75.75mm
100: 100mm

Others No this code

A




AIl'TAC

@ Inner structure and material of major parts

-

© N o OB W N

Rod nut
Piston rod

Front cover packing
Bushing

Front cover nut
Front cover
Barrel

Bumper

Piston

Piston seal
Magnet
Magnet holder
Wear ring
Washer

Nut

Back cover

Carbon steel

Carbon steel with 20 u m
chrome plated

NBR

Wear resistant material
Carbon steel
Aluminum alloy
Stainless steel

NBR

Aluminum alloy

NBR

Plastic

Aluminum alloy

Wear resistant material
Free cutting material
Carbon steel
Aluminum alloy

O Dimensions

MA
MAC

Total length=A+Stroke

i AD _MB
L el
B
PA

16 114 114 98 38 60 10 91 21 12
20 137 128 116 40 76 16 108 27 16
25 141 134 120 44 76 16 110 30 16
32 147 134 120 44 76 16 113 35 16
40 149 136 122 46 76 16.5 113 415 20
16 10 5 22 6 5 6 9 MI6x15
20 12 6 29 7 6 8 12 M22x1.5
25 17 6 29 7 8 8 12 M22x1.5
32 17 6 32 8 10 10 15 M24x2.0
40 17 7 41 9 14 12 15 M30x2.0
MAC
50 53 16
63 67 16

Total length=A+Stroke

i o

B T

6 22 M6x1.0 16
8 28 M8x1.25 20
10 30 M10x1.25 22
12 30 M10x1.25 22
16 32 M12x1.25 24
16 16 16 M5x0.8 5
12 21 12 1/8" 8
14 21 14 1/8" 8
14 27 14 1/8" 8
14 27 14 1/8" 8

| 4




AIlI'TAC

16
25

32
40

16

25
32

16
20
25

40

139
162
166
172
174

129
152
156
162
164

164
187
191
197
199

212 153

139

216 159
222 159
224 161

12 6 22
16 8 28
16 10 30
16 12 30
20 16 32

139
162
166
172
174

154
177
181
192
194

M6 x 1.0

M8x1.25 20 12
M10x1.25 22 17
M10x1.25 22 17
M12x1.25 24 17

164 129
187 143
191 149
192 149
204 151

12 6 22
16 8 28
16 10 30
16 12 30
20 16 32

164 - 123
178 203 141
184 209 145
184 209 145
186 211 147

16 10

~N o oo g

139 154 164
153 168 178
159 174 184
159 179 179
161 181 191

M6x1.0 16
M8x1.25 20

M10x1.25 22
M12x1.25 24

1

1
M10x1.25 22 17

1

1

22 6
29 7
29 7
32 8
41 9

148
166
170
170
172

113
131
135
135
137

123
141
145
145
147

191
195
195
197

5 6 7
6 8 9 M22x15 12 21 12 1/8"
8 8 9 M22x15 14 21 14 1/8"
10 10 12 M24x2.0 14 27 14 1/8"
14 12 12 M30x2.0 14 27 14 1/8"

138
156
160
165
167

© o ~N~N®

38 85 110 - 10
40 101 126 151 16
44 101 126 151 16
44 101 126 151 16
46 101 126 151 16

M16x1.5 16 16 16

148 75 85 100 110
166 91 101 116 126
170 91 101 116 126
165 91 101 121 121
177 91 101 121 131

5 6 7 M16x15 16 16
6 8 9 M22x15 12 21
8 8 9 M22x15 14 21
10 10 12 M24x2.0 14 27
14 12 12 M30x2.0 14 27

M5x0.8

116 141
133 158
135 160
138 163

5138 163

©o © co o Ui

106 116
123 133
125 135
128 138
128 138

16 M5x0.
12 1/8"
14 1/8"
14 1/8"
14 1/8"

131
148
150
158
158

85
8

8
8
8

183
185
188
188

141
158
160
168
168



AIlI'TAC

136 38 60 10 21 6 22 M6x1.0 16 10
156 40 76 16 27 8 28 M8x1.25 20 12
164 44 76 16 30 10 30 M10x1.25 22 17
164 44 76 16 35 12 30 M10x1.25 22 17
168 46 76 16.541.5 16 32 M12x1.25 24 17
199 52 95 23 53 16 32 M14x15 24 19
199 52 95 23 67 16 32 M14x1.5 24 19

5 M16x15 16 M5x0.85
6 M22x15 12 1/8" 8
8 M22x1.5 14 1/8" 8
M24x2.0 14 1/8" 8
14 M30x2.0 14 1/8" 8
14 M36x2.0 20 1/4" 1.5
14 M36x2.0 20 1/4" 1.5

0 0 ~NOo oo O
w
()

- 2 ©o~N~N®
(=

135 38 60 10 21 6 22 21 M6x1.0 16 10
153 40 76 16 27 8 28 25 M8x1.25 20 12
161 44 76 16 30 10 30 27 M10x1.25 22 17
161 44 76 16 35 12 30 27 M10x1.25 22 17
164 46 76 16.5 41.5 16 32 28 M12x1.25 24 17
195 52 95 23 53 16 32 28 M14x15 24 19
195 52 95 23 67 16 32 28 M14x15 24 19

o N o oo O

5 M16x1.5 16 M5x0.85 22
6 M22x1.5 12 1/8" 8 29
8 M22x1.5 14 1/8" 8 29 M10x1.25 6
10 M24x2.0 14 1/8" 8 32 M10x1.25 6
14 M30x2.0 14 1/8" 8 419 MI2x1257
14 M36x2.0 20 1/4" 11546 11 M12x1.257
14 M36x2.0 20 1/4" 11.546 11 M12x1.257

M6x1.0 5
M8x1.25 6

@ N ~N o>




AIlI'TAC

A+Stroke
AB AC+Stroke
DA AD ﬁ VAE
=2
o°7 LIJE x
S FA
EA
LIMA
20 120 31 89 29 16 335 305 8 28 M8x1.25 20
25 122 33 89 29 16 39 365 10 30 M10x1.25 22
32 122 33 89 29 16 47 425 12 30 M10x1.25 22
40 132.5 35 97.5 37.5 16.5 585 525 16 32 M14x1.5 24
20 135 6 ®55 9.5 6.5 21 12 20 3 1/8" 22 8 27
25 17 6 8 @65 ®11.075 25 12 26 3 1/8" 22 8 30
32 17 6 10 9.0 ®14.0 10 30 12 26 3 1/8" 22 8 35
40 19 8 14 o111 017512538 15 32 3 1/8" 27 8 415
50 62 ©6.5 Both sides:®11.0 6.5 44 53
63 74 ©9.0 Both sides:®14.0 8.5 48 67

20 120 31 89 29 16 305
25 122 33 89 29 16 365
32 122 33 89 29 16 425
40 1325 35 97.5 37.5 16.5 52.5
20 135 6 M5x0.8 9 22 20
25 176 8 M6x1.0 11 26 26
32 17 6 10 M6x1.0 11 30 26
40 19 8 14 M8x1.25 14 36 32
50 62 6.5 48 53

63 74 9.0 58 67

8 28 M8x125 20
10 30 M10x1.25 22
12 30 M10x1.25 22
16 32 M14x15 24

1/8"
1/8"
1/8"
1/8"

W W w w

22 8 27
22 8 30
22 8 35
27 8 415
4-0K
Thru.hole
g 1T o
© ‘ -©-
. 19
b KB
= B
*




AIlI'TAC

o o
Mounti LB: LB type
¥ spB:SDBtype @
Knuckle 3 I: I Knuckle
Y:Y Knuckle
o 16 98 123 148 - 8 111 136 -
20 122 147 172 197 108 131 156 181
25 122 147 172 197 106 131 156 181
Mounting LB hd hd hd hd x 32 142 167 192 217 126 151 176 20
accessory IE—— o e e X 40 142 167 192 217 126 151 176 201
SDB [ ] [ ] X X X
[ ° ° ° ° °
v ° ° ° ° ° 16 38 16 25 44 32 13 6 55 3 20
Knuckle 1) U ° ° ° ° ° 20 40 12 25 54 40 15 8 65 3 25
e ° ° ° ° ° 25 44 14 29 54 40 15 8 65 3 25
ST ° ° ° ° 32 44 14 19 59 45 25 8 65 4 32
SN ® o o o o 40 46 14 21 64 50 25 8 65 4 36
Sensor switch 2 CS1-F @ ® ® o o
DS1-F @ ° ° ° °
cs1-U @ ° ° ° °
DS1-U @ ° ° ° °
o
16~63 @) O O O O O O
o 16 3860 8 110 - 3 26 - 52 40 55 16
20 40 76 101 126 151 4 38 - 64 50 65 12
25 44 76 101 126 151 4 38 - 64 50 65 14
32 44 76 101 126 151 4 47 33 72 58 65 14
16 F-MA16LB F-MA16FA F-MA16SDB 40 46 76 101 126 151 4 50 36 84 70 65 14
20
25 F-MA20LB F-MA20FA F-MA20SDB
32 F-MA32LB F-MA32FA F-MA32SDB
40 F-MA40LB F-MA40FA
50 - - F-MA40SDB
63 - -
16 F-MA161 F-MA16Y F-M6X100F F-M6X100U
20 F-MA201 F-MA20Y F-M8X125F F-M8X125U
gg F-MA25| F-MA25Y F-M10X125F F-M10X125U
40 F-MA40l F-MAd0Y F-M12X125F F-M12X125U
gg F-MAC50I F-MAC50Y F-M14X150F F-M14X150U
16 16 9 12 - 107 132 157 - 23 - 1220 2 55 16
20 21 12 16 51 128 153 178 203 48 67 32 32 3 65 22
25 21 12 16 51 132 157 182 207 48 67 32 32 3 65 22
16 CS1-M-516 DS1-M-516 32 27 15 16 51 135 160 185 210 52 67 36 36 4 65 24
20 C81-M-520 DS1-M-520 40 27 15 20 55 137 162 187 212 56 71 40 40 4 65 28
25 CS1-M-S25 DS1-M-S25 — —
32 CS1-M-S32 DS1-M-S32
40 CS1-M-540 DS1—M-540
%0 CS1-MSEODSI-MSS0 o) ¢ bs1—F  cs1-U  Dsi-U
63 CS1-M-S63 DS1-M-S63 ~° - B -




AIl'TAC

F-MA16l
F-MA20!
F-MA25|
F-MA40!

F-MAC50!

F-MA16Y
F-MA40Y

F-MA20Y
F-MA25Y

F-MAC50Y

5 21 28 858 M6x1.0 6
8 30 40 11 15 M8x1.25 8
10 40 50 15 20 M10x1.25 10
10 45 57 16 23 M12x1.25 14

525 50 125 22 21 19 13.8 10 19 40 M14x1.5

12 5 21 85 274 6 M6x1.0 16.8 12.4
254 10 45 20 57 14 M12x1.25 32 262

42 32 16 16 MB8x1.25 14 21 8 8
52 40 20 19 M10x1.25 18 25 10 10

142 10 M14x1.5 27.8 19 17 40 22 51 22 346



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8

